The group G is isomorphic to the group labelled by [ 16, 2 ] in the Small Groups library.

Ordinary character table of G = C4 x C4:

la 4a 2a 4b 4c 4d 4e 4f 2b 4g 2c 4h 45 45 4k 41
X1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
X2 1 -1 1 -1 1 -1 1 —1 1 -1 1 -1 1 -1 1 -1
X3 1 1 1 1 -1 -1 -1 -1 1 1 1 1 -1 -1 -1 -1
X4 1 -1 1 -1 -1 1 -1 1 1 -1 1 -1 -1 1 -1 1
xs | 1 E@) -1 —E@4) 1  E@4) -1 —E@4) 1 E@4) -1 —E4) 1 E@4) -1 —E@4)
e |1 —E@) -1 E@) 1 —E@) -1 E4) 1 —E4) -1 E®4) 1 —E@) -1  E@)
xr |1 E4) -1 —E4) -1 -E4) 1 E(4) 1 E4) -1 —-E4) -1 —E4) 1 E(4)
xs |1 —E@4) -1 E@4) -1 E4) 1 -E4 1 —-E@4) -1 E@A) -1 E@4) 1 —E@)
o |1 1 1 1 B4 E@4 E4 E4 -1 -1 -1 -1 —B@4) -E@) -E@4) —BE(4)
x|l -1 1 -1 E@4) -E4) E4 -E4) -1 1 -1 1 -E4) E@4) -E4) E®A)
xu|l 1 1 1 —-E@) -E4) -E4 -E4) -1 -1 -1 -1 E@4) E@4) E@4) EM)
x12 | 1 -1 1 -1 —-FE4) FEM4) -E4) EH4 -1 1 -1 1 E4) -FE@4) EM4) -E@4)
x| 1 E4) -1 —E4) E@4) -1 -E4) 1 -1 —-E@4) 1 E@4) -—-E4) 1 E(4) -1
xul|1l —-E@) -1 EM4) E# 1 -E#4) -1 -1 EBE@) 1 -E@4) -E@4) -1 B4 1
xis| 1 B@) -1 —EBE@) -BE@4) 1  E@4) -1 -1 —-BE@4) 1 E@4) E@) -1 -B4) 1
xi6| 1 —-E@4) -1 E@) -E4) -1 E4 1 -1 E4) 1 -E@4) E@4) 1 —-B@4) -1
Trivial source character table of G = C4 x C4 at p = 2:
Normalisers ZVz Nl N2 N3 N4 N5 N6 N7 Ng Ng N10 Nll ng N13 N14 N15
p-subgroups of G up to conjugacy in G P | P |Py | Py | P | Ps | P | Ps| Py| Py | Pi1| Pio| Pig| Py| P
Representatives n; € N; la | 1la | 1la | 1la |1la | 1la |1la | 1la | 1la | la | la | la | la | la | la
T-xa+1-xo+1-x3+1-xa+1-x5+1-x6+1-xr+1-xs+1-xo+1-xi0o+1-xuu+1l-xi2+1-xi3+1-xa+1-xi5+1-x16|16] 0] 0] 0| 0] 0| 0] 0|0 0 0 0 0 0 0
T-oxa+1l-xo+1-xs+1-xa+1l-x5+1-x6+1-x7+1-xs+0-x0+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x06 | 8 | 8| 0O OO0 )00 )00 0 0 0 0 0 0
l-xya+1-xo+1-x3+1-x4a+0-x5+0-x6+0-x74+0-x8+1-xo+1-x10+1-x11+1-x12+0-x13+0-x14+0-x15+0-x16 | 8 0 8 0 0 0 0 0 0 0 0 0 0 0 0
I-xa+1l-xo+1-xs+1-xa+0-x54+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-xi2+1-xa3+1-xu+1-xa5+1-x6 | 8 0] 0] 8] 0] 0]0]0]0] 0 0 0 0 0 0
1-x1+1-xo+1-x3+1-x4+0-x5+0-x6+0-x7+0-x8+0-x0+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16| 4 | 4 | 4| 4| 4|0 0] 0]0O0 0 0 0 0 0 0
1-x1+0-x2+1-x3+0-x4+0-x5+0-x6+0-x7+0-xs+1-xo+0-x10+1-x11+0-x12+0-x13+0-x14a+0-x15+0-x6 | 4 [ 0O | 4] 0] 0| 4]0]0]0] 0 0 0 0 0 0
1-x1+0-x2+1-x3+0-xa+0-x54+0-x6+0-x7+0-xs+0-xo+1-x10+0-x11+1-x12+0-x134+0-x14+0-x15+0-x6 | 4 [ O | 4]0 ] 0] 0] 4 ]0]07] 0 0 0 0 0 0
T-x1+1-x2+0-x3+0-xa+1-x5+1-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+0-x13+0-x14a+0-x15+0-x6 | 4 [ 4] 0] 0] 0] 0]0 | 4]0] 0 0 0 0 0 0
1-x1+1-x2+0-x3+0-x4+0-x5+0-x6+1-x7+1-x8+0-x0+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x6| 4 | 4] 0| 0| 0| 0| 0| 0] 4 0 0 0 0 0 0
1-x14+0-x2+0-x3+1-xa+0-x54+0-x6+0-x7+0-x8+0-x0+0-x10+0-x11+0-x12+0-x13+1-x14+1-xX15+0-x6| 4 | 0] 0| 4| 0| 0| 0] 0] O0 4 0 0 0 0 0
1-x14+0-x2+0-x3+1-x4+0-x5+0-x6+0-x7+0-x8+0-x0+0-x10+0-x11+0-x12+1-x13+0-x4+0-x5+1-x6| 4| 0] 0| 4|00 0] 0]O0 0 4 0 0 0 0
1-x14+0-x24+1-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+0-x13+0-x14a+0-x154+0-x16 | 2 2 2 2 2 2 2 0 0 0 0 2 0 0 0
1-x1+1-x2+0-x3+0-x4+0-x5+0-x6+0-x7+0-x8+0-x9+0-x10+0-x11+0-x12+0-Xx13+0-x14+0-x15+0-x16| 2 | 2 | 2 | 2| 2|00 ]| 2|2 0 0 0 2 0 0
1-x14+0-x24+0-x34+1-xa+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+0-x13+0-x14a+0-x15+0-x16 | 2 2 2 2 2 0 0 0 0 2 2 0 0 2 0
1-x14+0-x2+0-x3+0-x4a+0-x54+0-x6+0-x7+0-xs+0-x0+0-Xx10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16| 1 | 1T | 1T | 1T | 1T | 1|1 ] 1]1 1 1 1 1 1 1
Py = Group([()) = 1
P, = Group([(1,3)(2,4)]) = C2
P; = Group([(5,7)(6,8)]) = C2
Py = Group([(1,3)(24)(5.7)(6,8)]) = C2
Ps = Group([(5,7)(6,8), (1,3)(2,4)]) = C2 x C2
Ps = Group([(5,6,7,8),(5,7)(6,8)]) = C4
P; = Group([(1,3)(2,4)(5,6,7,8), (5,7)(6,8)]) = C4
Py = Group([(1,2,3,4),(1,3)(2,4)]) = C4
Py = Group([(1,2,3,4)(5,7)(6,8), (1,3)(2,4)]) = C4
PlO = GTOUP([(1,2,3,4)(5,6,7, 8)7 (173)(274)(5a 7)(6’8)]) = C4
P11 = Group(|(1,4,3,2)(5,6,7,8),(1,3)(2,4)(5,7)(6,8)]) = C4
Pys = Group([(5,7)(6,8),(1,3)(2,4), (5,6,7,8)]) = C4 x C2
P35 = Group([(5,7)(6,8),(1,3)(2,4),(1,2,3,4)]) =2 C4 x C2
Py = Group([(5,7)(6,8), (1,3)(2,4), (1,2,3,4)(5,6,7,8)]) = C4 x C2
Pys = Group([(5, 7)(6a8)’ (173)(234)7 (576a 7a8)7 (17 ’ 74)]) =C4xC4
Ny = Group([(1,2,3,4),(5,6,7,8)]) = C4 x C4
Ny = Group([(1,2,3,4),(5,6,7,8)]) = C4 x C4
N3 = Group([(1,2,3,4),(5,6,7,8)]) = C4 x C4
N, = Group([(1,2,3,4),(5,6,7,8)]) = C4 x C4
N5 = Group([(1,2,3,4),(5,6,7,8)]) = C4 x C4
Ns = Group([(1,2,3,4),(5,6,7,8)]) = C4 x C4
N7 = Group([(1,2,3,4),(5,6,7,8)]) = C4 x C4
Ng = Group([(1,2,3,4),(5,6,7,8)]) = C4 x C4
Ng = Group([(1,2,3,4),(5,6,7,8)]) = C4 x C4
Niyg = Group([(1,2,3,4),(5,6,7,8)]) = C4 x C4
N11 = Group([(1,2,3,4),(5,6,7,8)]) = C4 x C4
Nia = Group([(1,2,3,4),(5,6,7,8)]) = C4 x C4
Ni3 = Group([(1,2,3,4),(5,6,7,8)]) = C4 x C4
Nis = Group([(1,2,3,4), (5,6,7,8)]) = C4 x C4
N5 = Group([(1,2,3,4),(5,6,7,8)]) = C4 x C4




